HW MATH?227/1

1. Find the solution set of each of the following linear equations.

(a) Tx—5y=3
(b) —8;1'1 + 211,'2 - 5.’173 + G.’U4 =1

2. Find the augmented matrix for each of the following systems of linear equations.

(a) 32; -2z = -1
4271 +5."L‘2 = 3
7.’1,'1 +3’LZ = 2
(b) =z 42z, -4 +x5 = 1
3:1)2 +Z3 _—-.7;5 =
I3 +7.’L'4 = 1

3. Find a system of linear equations corresponding to the augmented matrix.

3 0 -2 5

(a) 7 1 4 =3
0 -2 1 7

1 0 0 0 7
0100 -2

(6) 0010 3
L0 0 01 4

4. In each part suppose that the augmented matrix for a system of linear equations has
been reduced by row operations to the given reuced row-echelon form. Solve the system

1 0 0 —3]
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5. Reduce

2 1 3
0 -2 =29
3 4

to reduced row-echelon form without introducing any fractions.

6. Find two different row-echelon forms of

57

7. Solve the system
2z —X9 = Az
2T, —xy +x3 = Al
—2’L1 +2.’.L'2 +z3 = /\.’L‘3

for x;, xs, and z3 in the two cases A =1, A = 2.



